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Problem solving - perimeter

Discover

A Start g

Tennis court

150 m Finish
o Danny and Lee were running around the park. Danny took route A and
Lee took route B.
) Who ran the greater distance? How much further did they run?

b) The running club want to hang bunting either around the perimeter
of the park or around the perimeter of the field.

Which option uses less bunting?

[ shore

a)

b)

Danny ran along 2 straight paths:
150 m + 150 m = 300 m

Lee ran along 2 paths of 55 m and 71 m:
55+71=126m

som

Lee also ran three shorter paths.

126 +150 = 276 m

Lee ran 276 m. Danny ran 300 m. s

The three shorter
paths must add up to
150 m because they

are the same length as
one side of the square.

Danny ran the greater distance.

300 - 276 = 24

Danny ran 24 metres further
than Lee.

The perimeter of the park = 150 m x 4 = 600 m.

To find the perimeter of the field, add the
distances run by Danny and Lee and the
distance between the start points A and B.

The distance between A and B is
150 - 55 — 71 = 24 m.

The perimeter of the field is
300 + 276 + 24 = 600 m.

The perimeter of the field is the same
as the perimeter of the park.

The amount of bunting will be the same
wherever the running club choose to put it.
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Think together

Max hos a square piece of material. The perimeter of the material
is 40 cm.

He cuts the material into two equal rectangulor pieces.

What is the perimeter of each rectangle?

The regular hexagon and regular octagon below have the same
perimeter.

If the length of one side of the octagon is 9 cm, what is the length
of one side of the hexagon?

qcm
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) 7 oreo of the small squore is 25 . The area of the lorge square is
81 cm?. Find the perimeter of the unshaded shape.

25 cm

° Amal has a rope that is 48 m long.

He puts the rope around a rectangular patch of land where
seedlings have been planted.

The width and the length of the rectangle are whole numbers.

What s the greatest possible area of the patch of land?

Twonder what the length
o width could be

Ithink the length and
width of the rectangle

must add up to 24.
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